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Assignment

1) Jessica and her best friend found some 2) Dan bought four candy bars for a totai of
money under the couch. They split the $24.96. How much did each candy bar
imoney evenly, each getting $16.32. How cost?

much money did they find?

3) Heather had some candy to give to her 4) On Tuesday Alberto bought six hats. On
five children. She first took eight pieces Wednesday half of all the hats that he had
for herself and then evenly divided the rest were destroyed. On Thursday there were
among her children, Each child received only 13 left. How many did he have on
four picces. With how many pieces did Monday?
she start? o

Find each sguare roct.
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Evaluate each expression.
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Find each produect.
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Find exch guotient.
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Solve each equation.

25)x - 13 = -31

27) -1 + r= -8
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26) v+ 5=-4



Evaluate each expression.
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29)
6-3

31) (6-1.9)

Simplify each expression.

35) =7(8x ~ 1)

Write each as a fraction.

37) 78%

39) 7%

30)6+5-6

32) 5.7 +4.8+1.2

36) 10 - 10(5x + 7)

38) 20%

40) 50%



Solve each problem.

41y What'is 169% of 797 42y 95 is 27% of what?

Solve each proportion.
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3
43) H=* 44) F= £
10 9 7

o

Answer each question and round your answer to the nearest whole number.

45) Norachai bought one package of 46} A frame is 1 in wide and 4 in tall. If it is
strawberries for $3. How many packages enlarged to a width of 3 in, then how tall
of strawberries can DeShawn buy if he has will it be?
$9?

Find the area and circumference of each. Round your answer to the nearest tenth.

47) 48)




Solve each equation.

1) 3n+4n=—14 2) 9=-Tm+1-6

3) —24 = 5r + 3r 4) —6x —6x =12

5) =36 = 6(2 ~ 8n) 6)—6+5(-1-5) =19

7) —14 = —(-2x + 2} 8)51 =7(-1+2v) +2

9) 7(1 +5n) + 6(1 +4n) = 13 10) 73 = —6(k—7) + 6(k + 5)
11) ~6(3 —3a)~ 8(6a+ 5) =132 12) 9+4r=4r-3-6

13Y6x—2x+8=x+3 14) 4n+Sn+ 15=5n+"7n



